
 
Reading Part C – Caesarean Sections 

*taken from Cambridge OET Preparation 

 

Quick vocabulary review 

Choose the correct word in the below sentences:  

 

1. The reasons Mr Smith gave for his symptoms are not feasible/plausible. It is clearly a non-compliance 
issue.  

2. The symptoms for psoriasis and eczema differ/differentiate in a number of ways.  
3. Whilst/While many health professionals understand the ill effects of smoking, nicotine addiction is 

surprisingly common in this group.  
4. It’s important to weight / weigh up the pros and cons of any significant decision.  
5. Much is unknown about vaping at this point but on current evidence, the relative / related risks of 

smoking and vaping are incomparable.  
 

Reading Part C Technique  

1) Read the text title  
2) Read the question stem – and simplify if necessary 
3) Read the paragraph 
4) Review the options- differentiate the options 
5) Eliminate options according to the text 
6) Choose the answer you like!  

 

Practice 
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Answers 

 

1. The reasons Mr Smith gave for his symptoms are not plausible. It is clearly a non-compliance issue.  
2. The symptoms for psoriasis and eczema differ in a number of ways.  
3. Whilst/While many health professionals understand the ill effects of smoking, nicotine addiction is 

surprisingly common in this group. – both are ok!  
4. It’s important to weigh up the pros and cons of any significant decision. 
5. Much is unknown about vaping at this point but on current evidence, the relative risks of smoking 

and vaping are incomparable.  

 

Part C Practice 

9) D 
10) A 
11) B 
12) C 
13) D 

 


